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Recall the properties of a binomial distribution:
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As the number of trials increases, the graph of the distribution becomes a standard normal curve.

Since we want to insure a normal distribution of proportions, we will require:
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Additionally, we need to use a continuity correction. This is not covered in the book. The distribution of sample proportions is considered to be discrete, while the distribution of x values is continuous:
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 to get the right endpoint of the x interval.


· When 
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 to get the left endpoint of the x interval.
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